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Questions

Question Image

Answers Choice

A. <div><span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">| and</span><span
style="background-color: rgb(255,
255, 248); color: rgh(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size:
18px;">I</span><span
style="background-color: rgb(255,
255, 248); color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 18px;">I
quadrants</span></div>

B. <span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">|</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">l and</span>
<span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:
&quot;Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">I</span><span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">l quadrants</span>

C. <span style="color: rgh(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">| and</span>
<span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">V</span><span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">quadrants</span>

D. none of these

A. <span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,

248);">| and</span><span
style="color: rgb(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
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Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

The solution set of the equation 1 + Cos x=0is
The solution set of the equation 4 cos?x- 3 + 0 is
Question Image

The solution of the equation 3 tan?x=1is
Question Image

Question Image

Question Image

Question Image

size: 15pX; Dackgrouna-colior:
rgb(255, 255, 248);">I
quadrants</span>

B. <span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">l and</span>
<span style="color: rgb(34, 34, 34);
font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">I</span><span
style="color: rgb(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">| quadrants</span>

C. <span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">I</span><span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">| and</span><span
style="color: rgb(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size: 18px;
background-color: rgh(255, 255,
248);">I</span><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 18px; background-color:
rgb(255, 255, 248);">V</span><span
style="color: rgb(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size: 18px;
background-color: rgb(255, 255,
248);">quadrants</span>

D. none of these

D. none of these
D. none of these
D. none of these
D. none of these

D. none of these

D. none of these

D. none of these
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Question Image
Question Image
Question Image
Question Image
Question Image
Question Image

Question Image

Question Image

Question Image

Question Image
Question Image
Question Image

Question Image

B. quadrant II
C. quadrant Il
D. quadrant IV

A. quadrant |

C. quadrant Il
D. quadrant IV



